

Fibonacci:

n	0	1	2	3	4	5	
f_n	1	1	2	3	5	8	...

$$F(x) = \sum_{n=0}^{\infty} f_n \frac{x^n}{n!} = \frac{1}{0!} + \frac{1x}{1!} + \frac{2x^2}{2!} + \frac{3x^3}{3!} + \frac{5x^4}{4!} + \frac{8x^5}{5!} + \dots$$

$$F'(x) = \sum_{n=1}^{\infty} f_n \frac{x^{n-1}}{(n-1)!} = \frac{1}{0!} + \frac{2x}{1!} + \frac{3x^2}{2!} + \frac{5x^3}{3!} + \frac{8x^4}{4!} + \dots$$

$$F''(x) = \sum_{n=2}^{\infty} f_n \frac{x^{n-2}}{(n-2)!} = \frac{2}{0!} + \frac{3x}{1!} + \frac{5x^2}{2!} + \frac{8x^3}{3!} + \dots$$

$$F'' = F' + F$$

F solves $y'' - y' - y = 0$
 initial values $y(0) = 1$
 $y'(0) = 1$

$$r^2 - r - 1 = 0$$

$$r = \frac{1 \pm \sqrt{1^2 - 4(-1)}}{2} = \frac{1 \pm \sqrt{5}}{2}$$

$$y = C_1 e^{\varphi t} + C_2 e^{-\varphi^{-1} t}$$

$$y' = C_1 \varphi e^{\varphi t} - C_2 \varphi^{-1} e^{-\varphi^{-1} t}$$

$$\rightarrow y(0) = C_1 + C_2$$

$$\rightarrow y'(0) = C_1 \varphi - C_2 \varphi^{-1}$$

For F:

$$1 = y(0) = C_1 + C_2$$

$$1 = y'(0) = C_1 \varphi - C_2 \varphi^{-1}$$

$$C_2 = 1 - C_1$$

$$1 = C_1 \varphi - (1 - C_1) \varphi^{-1}$$

$$\varphi = C_1 \varphi^2 - (1 - C_1)$$

$$\varphi = C_1 (\varphi + 1) - 1 + C_1$$

$$\varphi = \varphi C_1 - 1$$

$$\varphi + 1 = \varphi C_1$$

$$C_1 = \frac{\varphi + 1}{\varphi} = \frac{\varphi^2}{\varphi} = \varphi$$

$$C_2 = 1 - C_1 = 1 - \varphi = -\varphi^{-1}$$

$$\text{so } F(x) = \varphi e^{\varphi t} - \varphi^{-1} e^{-\varphi^{-1} t}$$

$$= \sum_{n=0}^{\infty} (\varphi \cdot \frac{(\varphi t)^n}{n!} - \varphi^{-1} \frac{(-\varphi^{-1} t)^n}{n!})$$

$$f_n = \varphi^{n+1} + (-\varphi^{-1})^{n+1}$$

(maybe...)

$$\varphi^2 = \varphi + 1$$

2.1. $y'' - xy' - y = 0$ $y(0) = 1$ $y'(0) = 0$

$$y = \sum_{n=0}^{\infty} C_n x^n \quad y' = \sum_{n=1}^{\infty} n C_n x^{n-1} = C_1 + 2C_2 x + \dots$$

$$0 = y'' - xy' - y = \sum_{n=2}^{\infty} n(n-1) C_n x^{n-2} - x \sum_{n=0}^{\infty} n C_n x^{n-1} - \sum_{n=0}^{\infty} C_n x^n$$

$(m = n-2)$

$$= \sum_{m=0}^{\infty} (m+2)(m+1) C_{m+2} x^m - \sum_{n=0}^{\infty} n C_n x^n - \sum_{n=0}^{\infty} C_n x^n$$

$(n = m)$

$$= \sum_{n=0}^{\infty} ((n+2)(n+1) C_{n+2} - n C_n - C_n) x^n$$

$$0 = (n+2)(n+1) C_{n+2} - (n+1) C_n \quad \text{for } n \geq 0$$

$$C_{n+2} = \frac{C_n}{n+2}$$

$(m = n+2)$

$$C_m = \frac{C_{m-2}}{m} \quad \text{for } m \geq 2$$

k	n	C _n
0	0	C ₀ = 1
	1	C ₁ = 0
1	2	C ₂ = $\frac{C_0}{2} = \frac{1}{2}$
	3	C ₃ = $\frac{C_1}{3} = 0$
2	4	C ₄ = $\frac{C_2}{4} = \frac{1}{4 \cdot 2}$
	5	C ₅ = $\frac{C_3}{5} = 0$
3	6	C ₆ = $\frac{C_4}{6} = \frac{1}{6 \cdot 4 \cdot 2}$

Guess: $C_{2k+1} = 0$ for $k \geq 0$

$$C_{2k} = \frac{1}{2 \cdot 4 \cdot 6 \cdot 8 \cdot \dots \cdot (2k)}$$

$$= \frac{1}{(2 \cdot 1) \cdot (2 \cdot 2) \cdot (2 \cdot 3) \cdot \dots \cdot (2 \cdot k)}$$

$$= \frac{1}{2^k \cdot 1 \cdot 2 \cdot 3 \cdot \dots \cdot k}$$

$$= \frac{1}{2^k k!}$$

$$y = \sum_{k=0}^{\infty} \frac{1}{2^k k!} x^{2k} = \sum_{k=0}^{\infty} \frac{(\frac{1}{2} x^2)^k}{k!} = \boxed{e^{\frac{1}{2} x^2}}$$

$$y' = x e^{\frac{1}{2} x^2}$$

2.2. $y'' + x^2 y = 0$ $y(0) = 1$ $y'(0) = 0$

$y = \sum_{n=0}^{\infty} c_n x^n$ $y' = \sum_{n=1}^{\infty} n c_n x^{n-1}$

$1 = y(0) = c_0$
 $0 = y'(0) = c_1$

$0 = y'' + x^2 y = \sum_{n=2}^{\infty} n(n-1) c_n x^{n-2} + \sum_{n=0}^{\infty} c_n x^{n+2}$

$(m = n-2)$ $(m = n+2)$

$= \sum_{m=0}^{\infty} (m+2)(m+1) c_{m+2} x^m + \sum_{m=2}^{\infty} c_{m-2} x^m$

$= 2c_2 + 6c_3 x + \sum_{m=2}^{\infty} (c_{m+2} + c_{m-2}) x^m$

$\begin{cases} 0 = 2c_2 \\ 0 = 6c_3 \\ 0 = (m+2)(m+1)c_{m+2} + c_{m-2} \text{ for } m \geq 2 \end{cases}$

$c_{m+2} = \frac{-c_{m-2}}{(m+2)(m+1)} \quad (n=m+2) \quad c_n = \frac{-c_{n-4}}{n(n-1)}$

k	n	c_n
0	0	$c_0 = 1$
	1	$c_1 = 0$
	2	$c_2 = 0$
	3	$c_3 = 0$
1	4	$c_4 = \frac{-c_0}{4 \cdot 3} = \frac{-1}{4 \cdot 3}$
	5	0
	6	0
	7	0
2	8	$c_8 = \frac{-c_4}{8 \cdot 7} = \frac{1}{8 \cdot 7 \cdot 4 \cdot 3}$
3	12	$c_{12} = \frac{-c_8}{12 \cdot 11} = \frac{-1}{12 \cdot 11 \cdot 8 \cdot 7 \cdot 4 \cdot 3}$
4	16	$c_{16} = \frac{-c_{12}}{16 \cdot 15} = \frac{1}{16 \cdot 15 \cdot 12 \cdot 11 \cdot 8 \cdot 7 \cdot 4 \cdot 3}$

$k \geq 0 \quad c_{4k+1} = c_{4k+2} = c_{4k+3} = 0$

$c_{4k} = \frac{(-1)^k}{3 \cdot 4 \cdot 7 \cdot 8 \cdot 11 \cdot 12 \cdot \dots \cdot (4k-1) \cdot (4k)}$

$y = \sum_{k=0}^{\infty} \frac{(-1)^k x^{4k}}{3 \cdot 4 \cdot 7 \cdot 8 \cdot 11 \cdot 12 \cdot \dots \cdot (4k-1) \cdot (4k)}$

$4 \cdot 8 \cdot 12 \cdot \dots \cdot 4k$
 $= 4^k k!$

$c_{4k} = \frac{(-1)^k}{4^k k! \cdot 3 \cdot 7 \cdot 11 \cdot \dots \cdot (4k-1)}$